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Q.No.7. (A) A man buys Skg of meat at Rs.500 per kg. In addition, for every kilogram of (5)
meat purchased, he has to pay a consumption tax of 6% on the selling price.
Calculate the total amount of money that he has to pay.

(B) It takes Al 30 minutes to mark a paper. Aslam only needs 25 minutes to mark (5)
a paper. If they both start marking papers at 10:00 AM, at what time they will
finish marking at the same time?

(C) Two bus tickets from Rawalpindi to Islamabad and three tickets from (5)
Rawalpindi to Murree cost Rs.770 but three tickets from Rawalpindi to
Islamabad and two tickets from Rawalpindi to Murree cost Rs.730. What are
the fares for cities Islamabad and Murree from Rawalpindi?

(D) A4 told B that C 1s his father’s nephew. 2 1s 4 s cousin but not the brother of C. (5)
What relationship is there between D and C7

Q. No.8. (A) Divide Rs.500 between Arham, Mariam and Sarim so that Arham gets 2/3 of (5)

what Mariam gets and Mariam gets % of what Sarim gets. Find the share of
each.

(B) A school has enough provision of food for 52 days. After 20 days a group of (5)
400 students arrives and the food would have last for 24 days only. How many
students are there in the school actually?

(C) A man walks 2km towards North. Then he turns to East and walks 10km. After (5)
this he turns to North and walks 3km. Again he turns towards East and walks
2km. How far 15 he from the starting point?

(D) In a certain code language COMPUTER is written as RFUVQNPC. How will (5)
MEDICINE be written in that code language?
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